ITB Number: 21-101332

ITB Name: Scott Boulevard Phase II Watermain Replacement

(Multiyear Contract)

ITB Opening: December 1, 2021 @3:00PM

Price Opening: December 22, 2021 Clarified Prices: June 21, 2022 Agent: Doncella Avery & Willie Moon

					VENDO	OR NAME	VENDOR NAME		
Item No.	Spec 01210	Item Description	Unit	Quantity	Garney Companies, Inc.		Ruby Co.	llins, Inc.	
	Section #				Unit Price	Extended Price	Unit Price	Extended Price	
		WATER MAIN Replacement							
1	2.01	6" DIP, RJ, CLASS 250	LF	1,040.00	\$260.00	\$270,400.00	\$115.00	\$119,600.00	
2	2.02	6" DIP, RJ, CLASS 250, DEEP BURY	LF	200.00	\$53.00	\$10,600.00	\$135.00	\$27,000.00	
3	2.01	8" DIP, RJ, CLASS 250	LF	1,240.00	\$275.00	\$341,000.00	\$145.00	\$179,800.00	
4	2.02	8" DIP, RJ, CLASS 250, DEEP BURY	LF	200.00	\$53.00	\$10,600.00	\$165.00	\$33,000.00	
5	2.01	12" DIP, RJ, CLASS 250	LF	10,460.00	\$540.00	\$5,648,400.00	\$406.70	\$4,254,082.00	
6	2.02	12" DIP, RJ, CLASS 250, DEEP BURY	LF	200.00	\$120.00	\$24,000.00	\$421.70	\$84,340.00	
7	2.01	20" DIP, RJ, CLASS 250	LF	40.00	\$670.00	\$26,800.00	\$481.70	\$19,268.00	
8	2.02	20" DIP, RJ, CLASS 250, DEEP BURY	LF	20.00	\$190.00	\$3,800.00	\$496.70	\$9,934.00	
9	2.01	30" DIP, RJ, CLASS 250	LF	8,940.00	\$1,146.00	\$10,245,240.00	\$1,231.70	\$11,011,398.00	
10	2.02	30" DIP, RJ, CLASS 250, DEEP BURY	LF	200.00	\$175.00	\$35,000.00	\$1,236.70	\$247,340.00	
11	2.03	RESTRAINED JOINT DUCTILE IRON FITTINGS	TN	30.00	\$10.00	\$300.00	\$745.00	\$22,350.00	

12	2.04	6" POLYETHYLENE PIPE WRAP	LF	1,240.00	\$2.20	\$2,728.00	\$2.00	\$2,480.00
13	2.04	8" POLYETHYLENE PIPE WRAP	LF	1,440.00	\$2.50	\$3,600.00	\$2.00	\$2,880.00
14	2.04	12" POLYETHYLENE PIPE WRAP	LF	10,660.00	\$2.60	\$27,716.00	\$2.25	\$23,985.00
15	2.04	20" POLYETHYLENE PIPE WRAP	LF	60.00	\$9.00	\$540.00	\$3.00	\$180.00
16	2.04	30" POLYETHYLENE PIPE WRAP	LF	9,140.00	\$9.00	\$82,260.00	\$3.00	\$27,420.00
17	2.05	CATHODIC PROTECTION	EA	1.00	\$265,000.00	\$265,000.00	\$155,810.00	\$155,810.00
18	2.06	GATE VALVES WITH VALVE BOX AND EXTENSION, 6-INCH	EA	49.00	\$2,170.00	\$106,330.00	\$2,160.00	\$105,840.00
19	2.06	GATE VALVES WITH VALVE BOX AND EXTENSION, 8-INCH	EA	13.00	\$3,600.00	\$46,800.00	\$3,020.00	\$39,260.00
20	2.06	GATE VALVES WITH VALVE BOX AND EXTENSION, 12-INCH	EA	26.00	\$5,300.00	\$137,800.00	\$5,375.00	\$139,750.00
21	2.07	GATE VALVES WITH VAULT AND EXTENSION, 20-INCH	EA	1.00	\$57,000.00	\$57,000.00	\$31,500.00	\$31,500.00
22	2.07	GATE VALVES WITH VAULT AND EXTENSION, 30-INCH	EA	4.00	\$175,000.00	\$700,000.00	\$79,925.00	\$319,700.00
23	2.08	AIR VACUUM RELEASE VALVE WITH VAULT ON 12"	EA	1.00	\$24,000.00	\$24,000.00	\$14,975.00	\$14,975.00
24	2.08	AIR VACUUM RELEASE VALVE WITH VAULT ON 30"	EA	1.00	\$32,000.00	\$32,000.00	\$19,150.00	\$19,150.00

25	2.09	FIRE HYDRANT ASSEMBLY	EA	43.00	\$12,500.00	\$537,500.00	\$10,885.00	\$468,055.00
26	2.1	SALVAGE EXISTING FIRE HYDRANT	EA	15.00	\$1,500.00	\$22,500.00	\$1,345.00	\$20,175.00
27	2.11	TAPPING SLEEVE AND VALVE, 8" x 6"	EA	1.00	\$20,000.00	\$20,000.00	\$8,000.00	\$8,000.00
28	2.11	TAPPING SLEEVE AND VALVE, 8" x 8"	EA	4.00	\$20,000.00	\$80,000.00	\$8,210.00	\$32,840.00
29	2.11	TAPPING SLEEVE AND VALVE, 20" x 12"	EA	1.00	\$45,000.00	\$45,000.00	\$26,150.00	\$26,150.00
30	2.12	CONNECT TO EXISTING WATER LINES, 6"	EA	8.00	\$3,850.00	\$30,800.00	\$2,635.00	\$21,080.00
31	2.12	CONNECT TO EXISTING WATER LINES, 8"	EA	14.00	\$3,850.00	\$53,900.00	\$2,735.00	\$38,290.00
32	2.12	CONNECT TO EXISTING WATER LINES, 12"	EA	5.00	\$4,500.00	\$22,500.00	\$3,105.00	\$15,525.00
33	2.12	CONNECT TO EXISTING WATER LINES, 20"	EA	1.00	\$118,420.00	\$118,420.00	\$70,385.00	\$70,385.00
34	2.12	CONNECT TO EXISTING WATER LINES, 30"	EA	2.00	\$25,000.00	\$50,000.00	\$8,285.00	\$16,570.00
35	2.13	COPPER SERVICE LINE INSTALLATION, 2"	LF	250.00	\$115.00	\$28,750.00	\$65.00	\$16,250.00
36	2.13	COPPER SERVICE LINE INSTALLATION, 1"	LF	250.00	\$109.00	\$27,250.00	\$45.00	\$11,250.00
37	2.14	SERVICE LINE REPLACEMENT, 3/4"	EA	20.00	\$1,650.00	\$33,000.00	\$1,550.00	\$31,000.00

	1			1				T
38	2.14	SERVICE LINE REPLACEMENT, 1"	EA	20.00	\$1,685.00	\$33,700.00	\$1,610.00	\$32,200.00
39	2.14	SERVICE LINE REPLACEMENT, 1.5"	EA	20.00	\$1,750.00	\$35,000.00	\$2,395.00	\$47,900.00
40	2.14	SERVICE LINE REPLACEMENT, 2"	EA	20.00	\$2,000.00	\$40,000.00	\$3,485.00	\$69,700.00
41	2.15	ROCK EXCAVATION	CY	5,890.00	\$120.00	\$706,800.00	\$0.05	\$294.50
42	2.16	ASPHALT PAVEMENT, 2" - 12.5 MM SUPERPAVE	TN	3,100.00	\$262.00	\$812,200.00	\$300.00	\$930,000.00
43	2.16	ASPHALT PAVEMENT, 6" - 25 MM SUPERPAVE	TN	9,870.00	\$255.00	\$2,516,850.00	\$295.00	\$2,911,650.00
44	2.17	CONCRETE CURB AND GUTTER, CONCRETE CURB, AND CONCRETE VALLEY GUTTER	LF	2,870.00	\$45.00	\$129,150.00	\$50.00	\$143,500.00
45	2.18	CONCRETE DRIVEWAY/SIDEWALK	SY	280.00	\$90.00	\$25,200.00	\$100.00	\$28,000.00
46	2.19	ABANDON EXISTING WATER MAIN WITH GROUT	CY	810.00	\$300.00	\$243,000.00	\$125.00	\$101,250.00
47	2.2	CONCRETE ENCASEMENT	CY	100.00	\$215.00	\$21,500.00	\$300.00	\$30,000.00
48	2.21	PAVEMENT MARKING AND STRIPING, 5" SOLID WHITE STRIPING	LF	10,200.00	\$0.60	\$6,120.00	\$1.90	\$19,380.00
49	2.21	PAVEMENT MARKING AND STRIPING, 8" SOLID WHITE STRIPING	LF	160.00	\$3.00	\$480.00	\$2.90	\$464.00
50	2.21	PAVEMENT MARKING AND STRIPING, 18" SOLID WHITE STRIPING	LF	210.00	\$5.50	\$1,155.00	\$6.60	\$1,386.00
51	2.21	PAVEMENT MARKING AND STRIPING, 5" SOLID YELLOW STRIPING	LF	10,200.00	\$0.60	\$6,120.00	\$1.90	\$19,380.00

52	2.21	PAVEMENT MARKING AND STRIPING, 5" SKIP WHITE STRIPING	LF	10,200.00	\$0.55	\$5,610.00	\$1.90	\$19,380.00
53	2.21	PAVEMENT MARKING AND STRIPING, 5" SKIP YELLOW STRIPING	LF	10,200.00	\$0.55	\$5,610.00	\$1.90	\$19,380.00
54	2.21	PAVEMENT MARKING AND STRIPING, ARROWS AND LETTERING	EA	15.00	\$200.00	\$3,000.00	\$185.00	\$2,775.00
55	2.22	STORM DRAINAGE SYSTEM, PIPE	LF	200.00	\$300.00	\$60,000.00	\$150.00	\$30,000.00
56	2.22	STORM DRAINAGE SYSTEM, CATCH BASIN	EA	10.00	\$7,000.00	\$70,000.00	\$5,000.00	\$50,000.00
57	2.23	E&SC & TP, WATER QUALITY MONITORING AND SAMPLING	LS	1.00	\$6,500.00	\$6,500.00	\$16,500.00	\$16,500.00
58	2.23	E&SC & TP, WATER QUALITY INSPECTIONS	LS	1.00	\$6,500.00	\$6,500.00	\$3,000.00	\$3,000.00
59	2.23	E&SC & TP, CONSTRUCT AND REMOVE INLET SEDIMENT TRAP (SD2-P)	EA	68.00	\$330.00	\$22,440.00	\$182.95	\$12,440.60
60	2.23	E&SC & TP, CONSTRUCT AND REMOVE OUTLET PROTECTION (ST)	EA	1.00	\$750.00	\$750.00	\$182.95	\$182.95
61	2.23	E&SC & TP, SILT FENCE (TYPE C)	LF	12,800.00	\$5.50	\$70,400.00	\$7.50	\$96,000.00
62	2.23	E&SC & TP, TREE FENCE	LF	4,741.00	\$3.00	\$14,223.00	\$4.00	\$18,964.00
63	2.23	E&SC & TP, MULCH	TN	3.00	\$760.00	\$2,280.00	\$1,100.00	\$3,300.00
64	2.23	E&SC & TP, TEMPORARY GRASSING	AC	2.00	\$600.00	\$1,200.00	\$1,350.00	\$2,700.00
65	2.23	E&SC & TP, SODDING	SY	9,000.00	\$10.00	\$90,000.00	\$14.50	\$130,500.00
66	2.23	RIP RAP	SY	100.00	\$100.00	\$10,000.00	\$75.00	\$7,500.00

67	2.24	TRAFFIC CONTROL	LS	1.00	\$690,000.00	\$690,000.00	\$350,000.00	\$350,000.00
68	2.25	TREE REPLACEMENT	EA	10.00	\$500.00	\$5,000.00	\$550.00	\$5,500.00
69	2.26	ABANDON EXISTING VALVE BOX	EA	52.00	\$50.00	\$2,600.00	\$280.00	\$14,560.00
70	2.27	MOBILIZATION	LS	1.00	\$1,250,000.00	\$1,250,000.00	\$676,475.00	\$676,475.00
71	2.27	DEMOBILIZATION	LS	1.00	\$29,000.00	\$29,000.00	\$95,000.00	\$95,000.00
72	2.28	REMOVE/RESET MAILBOXES	EA	10.00	\$200.00	\$2,000.00	\$925.00	\$9,250.00
73	2.29	WATER VALVE COVER AND MARKER DISC	EA	93.00	\$1,000.00	\$93,000.00	\$315.00	\$29,295.00
74	2.3	TRAFFIC LOOP REPLACEMENT	EA	10.00	\$3,800.00	\$38,000.00	\$8,375.00	\$83,750.00
75	2.31	REMOVE WATER MAIN	LF	5,390.00	\$20.00	\$107,800.00	\$2.00	\$10,780.00
76	2.32	DISCONNECT TIE-INS FROM EXIST. 30"	EA	15.00	\$1,500.00	\$22,500.00	\$1,850.00	\$27,750.00
77	2.33	JACKING AND BORING	LF	60.00	\$600.00	\$36,000.00	\$1,150.00	\$69,000.00
78	2.34	LANDSCAPING	LS	1.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
79	2.35	REMOVE & REPLACE GUARDRAIL	LF	100.00	\$200.00	\$20,000.00	\$85.00	\$8,500.00
80	2.36	CUTTING & CAPPING EXISTING WATER MAINS	EA	24.00	\$3,500.00	\$84,000.00	\$1,650.00	\$39,600.00
81	2.37	BLOW-OFF ASSEMBLIES	EA	1.00	\$63,000.00	\$63,000.00	\$15,000.00	\$15,000.00
82	3.01	OWNER DIRECTED ALLOWANCE	LS	1.00	\$1,375,000.00	\$1,375,000.00	\$1,375,000.00	\$1,375,000.00
		* Overhead/Profit and Construction S	upport C	osts included in t	ınit prices above			

	GRAND TOTAL:		\$27,945,222.00		\$25,243,799.05
Number of Bids Received:		2			
LSBE Participation or Good Faith Effort (Yes/No)		Yes		Yes	
Vendor Attended Mandatory LSBE Meeting (Yes/No)		Yes		Yes	
Vendor Submitted Cost in Separate Sealed Envelope (Yes/No)		Yes		Yes	
Vendor Included Cost In Other Areas Outside of Separate Sealed		No		No	

Recommend award to Lowest, Responsive and Responsible Bidder:

Ruby-Collins, Inc.

4875 Martin Ct. SE

Smyrna, GA 30082